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1 Pete measured how late his school bus was over the course of 6 months. 

The results are summarised in the table below.

1(a) Use the information to complete the table below. 

[2 marks]

1(b) Pete wants to plot the information shown in the table to make a cumulative frequency 

diagram. 

Starting with the smallest 𝑥 value, give the first two coordinates Pete will plot. 

[2 marks]

Answer and

Turn over for next question

Turn over ►

4

Delay (mins) Frequency Cumulative Frequency 

0 < 𝑡 ≤ 2 6

2 < 𝑡 ≤ 4 13

4 < 𝑡 ≤ 6 34

6 < 𝑡 ≤ 8 19

8 < 𝑡 ≤ 10 13

10 < 𝑡 ≤ 12 5
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2 Oliver picks 90 apples from the apple trees in his garden and weighs them individually. 

The weights have been summarised in the cumulative frequency table below.

Use this information to plot a cumulative frequency diagram on the axes below. 

[3 marks]

Turn over for next question

Turn over ►

3

Weight (g) Cumulative Frequency 

0 < 𝑔 ≤ 50 5

0 < 𝑔 ≤ 100 16

0 < 𝑔 ≤ 150 43

0 < 𝑔 ≤ 200 67

0 < 𝑔 ≤ 250 80

0 < 𝑔 ≤ 300 90
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3 Connor does a survey on how much money 100 people spend over the Christmas 

period.

The results have been plotted on a cumulative frequency diagram below.

3(a) Use the cumulative frequency diagram to find the median amount spent.

[1 mark]

Answer

3(b) Use the cumulative frequency diagram above to find the lower quartile. 

[1 mark]

Answer

Question continues on next page

Turn over ►

2
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3(c) Use the cumulative frequency diagram to find the upper quartile.

[1 mark]

Answer

3(d) Use the cumulative frequency diagram to find the inter-quartile range.

[1 mark]

Answer

3(e) Use the cumulative frequency diagram to estimate the number of people who spent 

over £500 during the Christmas period. 

[2 marks]

Answer

Turn over for next question

Turn over ►

4
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4 Debbie collects data on the time it takes people in her year group to complete a 

cross-country race.

The completion times have been summarised in the grouped frequency table below.

4(a) Use the information in the table to plot a cumulative frequency diagram on the axes 

below.

[3 marks]

Question continues on next page

Turn over ►

3

Time taken 

(mins)
Frequency 

0 < 𝑡 ≤ 20 2

20 < 𝑡 ≤ 30 12

30 < 𝑡 ≤ 40 23

40 < 𝑡 ≤ 50 30

50 < 𝑡 ≤ 60 14

60 < 𝑡 ≤ 70 5

70 < 𝑡 ≤ 90 4

Time taken, 𝑇, minutes

Cumulative 

Frequency

10

0 10

𝑦

𝑥

20 30 40 50 60
0

20

30

40

50

60

70

80

90

100

70 80 90



7

4(b) Using your cumulative frequency diagram, calculate the Inter-quartile range

[2 marks]

Answer

4(c) Using your cumulative frequency diagram, calculate an estimate for the number of 

people who completed the race in under 45 minutes.

[2 marks]

Answer

Turn over ►

4
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5 Eve collects information on the household spending per day for 100 families.

The information has been summarised in the cumulative frequency diagram below.

5(a) How many families spend greater than £25, but lower than £45, per day?

[2 marks]

Answer

5(b) Her friend Frances collected her own data.

The median for her data is £27 and the inter-quartile range is £30.

Compare Eve and Frances’ spending data.

[2 marks]

Answer

Turn over for next question

Turn over ►

4
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6 Graham collects data on the ages of people in his village.

He has summarised the information in a frequency table below.

He then plots his information on a cumulative frequency diagram as shown.

Question continues on next page 

Turn over ►

0

Age (years) Frequency
Cumulative 

Frequency

0 < 𝑎 ≤ 10 2 2

10 < 𝑎 ≤ 20 4 6

20 < 𝑎 ≤ 30 8 14

30 < 𝑎 ≤ 40 18 32

40 < 𝑎 ≤ 60 48 80

60 < 𝑎 ≤ 70 8 88

70 < 𝑎 ≤ 90 12 100
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6(a) State three mistakes Graham has made when plotting his cumulative frequency 

diagram.

[3 marks]

1.

2.

3.

6(b)
Use the axes below to plot a corrected version of Graham’s cumulative frequency 

diagram

[2 marks]

End of Questions

END
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